[
o
oH
Rl
A
r=
i
Al
3
&

7|1ZH8 {X[E(%)
4EY ok Z|x gojY | Eoj ofF | |X[Hx | 4ERY
14 34 514 74 10
X EAE A 15 SRR 2 E | 20010205 o= 13,037 k=] 89.64 55.08 88.76 86.67 63.49
HI X EAE OIS 1S QFRCR 2 E | 20010205 o= 16,694 pshe] 89.23 56.88 84.19 83.44 77.2
HI X EAE OLHS 25 QFRICR 2 E | 20071024 i ES 28,760 pshe] 94.98 89.28 98.86 92.99 86.03
HIAEH R HE 1S (PSILY) | YBCIR2E | 20010205 | THOHEX| 4,419 M - 7375 77.55 56.71 5378
HZAEF ObNS 1S5 (FSILY) | ABCIREE | 20010205 | THOHEX| 4,035 ey - 73.81 78.13 58.06 59.90
AFMEN (FM2) QLR 2 E | 20010205 | THOIEX| 190 KA - - _ _ }
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7 fAE  ZRAELEREH 1, 3,5 7, 108 M siFAHE(L 1~12. 31)9] MAYAS F R[A|ENMNK| FX| =2 U= AdH2| HE

* RAE ALAl EFALRFE O 2 AOf2 ZESt EfALR O E A 9f2 2|
Lt (OfA) 2012. 9 & XY 107 ASF /A=
- (A) 20021 (1. 1~12. 31)2| Al A2k : 1,000A
- (B) 2002iA(1. 1~12. 31)0ff EfALZFE] O] &2 A 7= 1 100A
- (O (A+B) & 2012. 92 TMHX| EfALR O & AlSf A== : 30
- (D) (A+B) & 2012. 9% U7}K| Y|l A %4744 : 2002
= QX|& = (A+B-C-D) / (A+B-C) = 870 / 1,070 = 81.31%
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